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1. Answer the following as directed : 1x10=10
wore R foriRR S i

(a) The difference between traditional and
modern logic is not one of kind but of
degrees / qualities / languages.

( Choose the correct option )
g WiF O PR Ak

AFFNS 7 92 2 TH qGlarS / KIS [/ ST

112 |
( wm Reaee! I Skiea )
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(b)

(c)

(d)

(e)

(f)
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Every compound statement is truth-
functional. Is it true?

ATSFW! (AE TER Aol Fore®e | 23051
I ?

Pvq
=D
g
What is the name of this rule?

92 R T 52

Who is the author of the book,
Prior Analytics?
Prior Analytics 92374 @ @lv7?

A conjunctive function is true if any one
of the conjuncts is true. Is this statement
correct?

G TGS Fo A = I o {7 @i
9ol AN 7S] 2 | FAFE TS 2

Shorter truth table method is a part of
propositional logic / predicate logic.
( Choose the correct option )
oY A EE oSl Sifeiel cfmfs o
@ / REENe SHRe@T bt s |
( ®= Rt A Shrear )
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(g) Give an example of subjectless proposition.
STREMRR I @bl Srizael |

(h) Truth or falsity is a property of logic /
proposition / argument.

( Choose the correct option )
TSl R SPTEyel (R SR / o /

e of |
( %= [0 A SRisat )

(i) Ideograms directly stand for
( Fill in the blank )
RIS 522 dorweg  fett |
(<R 3R =7 =1 )

(j) Are symbols and signs same?

o OF oz 9 @7

2. Answer the following questions in brief : 2x5=10
©efq #NCIAT By ©ed Wl
(a) Give the definition of a proposition
according to modern logic.

e SHRGE P B e i |

(b) Write two distinctions between logical
constant and variable.
ol HF Wi oo A ARGES TS 4Pl To!
A1dey fort |
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{c)

(d)

(e)

If A and B are true statements and X and

Y are false statements, then determine

whether the following is true or false :

I A S B 9 [ IF X HF Y o) =,

SR T oS [ 7o) & Spre) oy 4t -
(Av X).(Y v B)

Mention two similarities between direct
and indirect truth table.

a1 o o il 1) )| 1 o
Tl 4|
Symbolize the following statements :
woq RYFOTIRT ASIPNe 1S o4 4l
(i) If it doesn’t rain, then we shall go for
picnic.
I 39yt e, oERE i e
9 |

(ii) It is false that Russia has won the
war

@30l By @ AR @i f&heE |

3. Answer any four of the following questions :

5x4=20

o PRl [ @i st Sea fe

(a)
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Write a short note on the characteristics
of symbolic logic.

Ao SHRER @RErH Raw off 5y
Gl ot |
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(S5}

(b) Distinguish between general proposition
and class-membership proposition.

AR 69 FiE @ Tepel 9 JTe 14
feemefst 54t |

(c) What is meant by interdefinability among
truth-functions? Explain.
AorSl  FEPiRd S @G  (inter-
definability) 30 & 3=t? Ji<pt T4 |

(d) Distinguish between inclusive and exclusive
sense of disjunctive truth-function.

Raee ool FomT SEse SiF aadie
o[ <A1y AT 4|

(e) State the rules of inference that are used
for constructing formal proof of validity.
WO TG ol s PlAALA AR A
S AR Sy 4

(f) Write a short note on the uses of symbols
in logic.

SHRETe 49T g9z Rew 96 o1 G
for4t |
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4. Answer the following questions : 10x4=40
O TR Oed R
(a) What is general proposition? Explain the

(b)

A23/759

classifications of general proposition with
proper examples. 2+8=10

AR I 59 ToRE TraerTR AR q5e
RSeS|

Or / 5241

Discuss the points of similarities and
dissimilarities between traditional and
modern logic. 10

RIS SiE S SHREme Tee g9
AP S CPIPTIE. SITEo 4 |

What is logical connective? Give brief
introduction to different kinds of logical
connectives used in symbolic logic. 2+8=10
O WAEE e T2 4O HRwne
TIZ° @[ [fen o @z S
ARGT SSRTGHA |
Or / =3/

What is symbol? What is the role of
symbols in translating our everyday
language? 248=10
g8l 62 @iy TR Same @@ w4 s
ST TN (RIS 2SI SRR S < |

( Continued )



(7o)

(c) What is truth-function? Construct truth
table for the basic truth-functions. 2+8=10
ool Fo 67 @ Torem@ERT Q|
Sorel Siferel a0 T4l |

Or / 93t

What is indirect truth table method?
Construct indirect truth table to determine
the validity or invalidity of the following
arguments : 2+4+4=10

M Aoyl Bifeiel (57 @9 ez el
3l St FET IR AEEE Tore! it

sio 4t :
(i) (R.Q)VvS
R
QY GSER
(i) (PvQ).(~S.Q)
~ 8

(d) What is formal proof of validity? What are
the strategies for constructing a formal

proof of validity? Discuss. 2+8=10
@eelR SieETe g 62 @EeN SR

D MO P T o ol ol o o o Ml ) R M 2
AL F4 |
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( 8 )

Or /[ 9

Construct a formal proof of validity for the
following arguments : 5+5=10

Soid IR T (4SS SIS 219 910
|

(i) (~K.P)>(BVR)
~ K D{(B D D)

~Kv(RDE)
KPR DA,

(ii) E D (F.~ G)

(FvG)D H
E faE
* * X
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